eql = (e-x (1+f12) -y (1+f21) ((_y +eXfiyfa (x +y)) fio+yf 21)) /

e XY (-1 +eX)
((x+y) (xfio+yfor)) = ——
(-1+e**Y) x

e X (L+fiz) -y (1+f2) ((_y+eXf12+yf21 (X+y>) f12+yf21> eXV (-1 +eX)

(x+y) (xfaz+yfar) (-1+e)x
eq2 = [(G'X'Xf“'yf“ (xy (frz-Ta1) +@ ™29 2y (x4y) farses x (Xf12+yf21)))/

@ 0127y 02 X g1 +Y U21

X012 +Y 921

((x+y) (xfrpa+yfor)) =

(@’X’Xf“’yf21 (xy (Frz-fa1) +e ¥y (xey) fa ez x (xfo +yf21)))/
e X912V 0nx g1 +Y g1
Xgi2 +Y 921
Simplify[eql /. (a_=Db_) = (a/b)]

((x+y) Xfr2+yfo1)) =

(efeyfa (14 x ((-y+e*feia (xay))fopryfa)) / ((-1+€) (x+y) (Xfa+yfa))
to=Sinplifyl

eql /. (a_=b_) » (a/b) /. {f12 » (9[X, y1-1/4) /%, fa1 » (9ly, x1+1/4)/y}]
(e 9D YIOLXT (L1 4 eXY)

(- (-1 + DY X} (x hy) +4 (—y + 8V XD (xbyy ) gx, y] +4xgly, x]))/

(4 (-1+e€) (x+y) (Q[x, Y] +gy, X]))

tl=Sinplify[eql /. (a_=Db_) = (a/b) /.
{fiz » (9%, y1-1/74)/x, fa1 > (9ly, X1 +1/4)/y} /. y-> x /. g[x, X] > g]

€29 (1+e¥) (1+e?9 (-1+40))

89
Solve[tl =1, g]

Solvezifun : Inverse functions are being used by Solve, so
some solutions may not be found; use Reduce for complete solution information. >

2 (-1-e) 2 (-1-€%)
e 44 (1 +eX) e 44 (1 +eX)
{{ge 1+ex—2ProductLog[—— +2 e* Product Log ——] /
2 (-1+¢&%) 2 (-1+¢&%)

(4 (-1+e))}}

Simplify[eql /. (a_=b_) =» (a/b) /.
{fi2 » (9%, ¥y1-1/74)/x, far » (9ly, X1 +1/4)/y} /. y- -X]

1
Power:infy : Infinite expression — encountered. >
0

Infinity:indet : Indeterminate expression
<lm+xl> 1=
(0 ex(L x )7x(1+_x) x ComplexInfinity (g[—x, x] + g[X, —x]))/((—l + &) (g[-x, x] + g[x, —x])) encountered. >

I ndet erm nate
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Simplify[tO /. {X->2zX, ¥y X/2z}]

e—g[—:,xz]fg[xz,;] [71 + e (—iq)

(— (71+eg[—2,xz]+g[xz,—:]) (l+22) +

4229[2, XZ]+4(_1_*_@9[;,)(2%9[)(2,;} (1+22>)g[le z]])/

< )]

[4 (-1+e*%) (1+2?%) (g{i xz} +g
z

to
(efg[x,y]fg[yyX] (-1 + &)
(- (-1+e8YIoy XDy (x y) 44 (—y + VIO (xvy) ) gix, y] +4xgly, x]))/
(4 (-1+€) (x+y) (9[X, Y] +gly, x]))
Solve[aF+bFE"F+cE" (2F) +dE*"F+e =0, F]
Solve:nsmet : This system cannot be solved with the methods available to Solve. >
SOlVe[e+deF+Ce2F+aF+beFF::O, F}

Solve[aF+bFE"F+0E" (2F) +dE*"F+e == 0, F]

Solve:nsmet : This system cannot be solved with the methods available to Solve. >
Solvele+de +aF+be" F=0, F|

Solve[aF+bFE"F+dE"F+e =0, F]

Solve:nsmet : This system cannot be solved with the methods available to Solve. >
Solve[e+de" +aF+befF=0, F|
Solve[aF+bFE"F+dE"F =0, F]

Solve:nsmet : This system cannot be solved with the methods available to Solve. >
Solve[de" +aF+be" F=0, F|
Solve[aF+bE*"F+cC =0, F]

Solvezifun : Inverse functions are being used by Solve, so
some solutions may not be found; use Reduce for complete solution information. >

-c - aProduct Log[beé }

{{F~ — 1)

a

tl

e?9 (1+eX) <l+ezg (—1+4g)>

89
Expand[8g (t1-1)]

“l+e?9-X+e?9%_4g+4eXg



